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SN AT Dt
A AU 2el(REXXSFIHL/AHEX)
el MYEX 24 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A SZIVRLER] ZE(FAURIFALY) 800,000 800,000
401 Al HIZL 201 800,000 800,000
01 Al&HI 800,000 800,000
O BBRVNMACT FH(FUT AL
800,000,000 800,000
de SS2OHArE SR = (JIBEAIE-HI=) 709,000 1,282,000 /573,000
= 709,000
401 Al HIZ 2018 709,000 1,282,000 /573,000
= 709,000
01 Al&HI 709,000 1,277,400 568,400
OH=HAXMCIAIE EXISA
709,000,000 709,000
= 709,000
e I OtAEEX ZE(OIBAIE-22) 300,000 700,000 400,000
401 AIEHIZ SR 0HYI 300,000 700,000 A400,000
01 Al&HI 300,000 695,590 A395,590
O==HMIAIL EXISA
300,000,000 300,000
Y SSIRACR ZEOIBAIE-2FXNFAIE) 1,428,600 9,315,000 A\T7,886,400
= 1,000,000
[ 128,600
Al 300,000
401 Al HIZL 201 1,428,600 9,315,000 AT7,886,400
= 1,000,000
== 128,600
Al 300,000
01 Al&HI 1,428,600 9,291,713 AT,863,113
O2ZMFAIE EXISA
1,428,600,000& 1,428,600
= 1,000,000
s 128,600
Al 300,000
Y 0|FHX MUET 2 HE(E5=22-25H) 380,000 0 380,000
401 Al HIZL S 0HYI 380,000 380,000
01 Al&H| 380,000 380,000
O8Y 0IFHX MAER HE(E522-254)
380,000,000& 380,000
Sg2shde HE 1,650,000 0 1,650,000
401 AIEHIX R0 1,500,000 0 1,500,000
01 A28l 1,500,000 0 1,500,000
O=g2stleAg 1,500,000,000& 1,500,000
405 AtatE = 150,000 150,000
01 Tt =S F=SH 150,000 150,000
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SN AT Dt
A AU 2el(REXXSFIHL/AHEX)
2l AP TR 2ke| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 150,000 150,000 0
= 45,000
Al 105,000
01 Al&H| 150,000 150,000 0
OAHEAl M (S3)ER I IHEA
150,000,000 150,000
=S 45,000
Al 105,000
AE BRI (S2)SHR N = (B) 212 100,000 60,000 40,000
401 Al&HIZ S OHE] 100,000 60,000 40,000
01 Al 100,000 60,000 40,000
OMBLPHAIR(ST) BT N (B) 2
g S99 100,000,000 100,000
AETIT,2 LERAMA TR THAHAFS 10,000,000 0 10,000,000
= 10,000,000
401 Al HIZL S 0HYI 10,000,000 0 10,000,000
= 10,000,000
01 A28l 10,000,000 0 10,000,000
OAE M1, 22 EHAFA E X T AL
10,000,000,000& 10,000,000
= 10,000,000
HReS(ALAXIN) (R ELXAMNL/AMHEI) 6,899,173 5,904,306 994,867
WA XIE 5,599,173 5,303,306 295,867
JIEI AN ES 5,599,173 5,303,306 295,867
701 JIEtR| HSHES 5,599,173 5,303,306 295,867
01 et AN ES 5,599,173 5,303,306 295,867
O=sSHAANLEEH HES
5,599, 173,000& 5,599,173
282 1,300,000 601,000 699,000
AE MSLEMAEI] XIS o 1,300,000 601,000 699,000
311 XS0l Aratat 127,000 131,000 24,000
05 JIEFRI S SOl Atatet 127,000 131,000 24,000
OAIE M LBHAHATR] XY OIXH ot
127,000,000 127,000
601 A= =4e 1,173,000 470,000 703,000
05 JIEt=URIE S =48 1,173,000 470,000 703,000
OAIE MELBAATT] XIS B o
1,173,000,000& 1,173,000
M2 AHHI (AR D) (IIEHDIE 53,800 63,760 29,960
=238l 53,800 63,760 9,960
JI23Hl 53,800 63,760 29,960
201 223 7,000 7,000 0
01 At22t2lt] 7,000 7,000 0
oget2dl 7,000,000 7,000




SA AR
A HZYRAZHI(ALYXIW)(DIEH/IIEH
Chel: J1=2 &l EER=E)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
202 04l 43,200 53,760 210,560
ETETT 43,200 53,760 A10,560
CENE L]
20,0002+ 182 * 10« 122 43,200
203 HR=AH] 3,600 3,000 600
MU FA2SHIFII 3,600 3,000 600
ORMEIE =] 300,000+ 12 3,600




